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Run 4385 triggerwise, sums: All

Entries: 2852526

Mean: 5386.4689 +/- 2.6169

Std Dev: 4419.7467 +/- 1.8504

Run 4385 triggerwise, sums: All
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Run 4385 triggerwise, sums: Beam OFF

Entries: 647

Mean: 2678.5719 +/- 86.2660

Std Dev: 2194.2797 +/- 60.9993

Run 4385 triggerwise, sums: Beam OFF
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Run 4385 triggerwise, sums: Beam ON, Laser ON

Helicity==0

Helicity==1
Entries: 986275

Mean: 5837.4110 +/- 4.9231

Std Dev: 4889.1699 +/- 3.4811

Entries: 985727

Mean: 5848.1111 +/- 4.9240

Std Dev: 4888.7201 +/- 3.4818

Run 4385 triggerwise, sums: Beam ON, Laser ON
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Run 4385 triggerwise, sums: Beam ON, Laser OFF

Helicity==0

Helicity==1
Entries: 409972

Mean: 4315.3635 +/- 4.2901

Std Dev: 2746.9307 +/- 3.0336

Entries: 409904

Mean: 4324.9157 +/- 4.2694

Std Dev: 2733.4305 +/- 3.0189

Run 4385 triggerwise, sums: Beam ON, Laser OFF
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